## **BID TABULATION FOR:**

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE EVERGROVE PARKWAY PHASE 1
PROPOSED FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 219-A
FORT BEND COUNTY, TEXAS
AUGUST 01, 2025
LIA ENGINEERING, INC.
M. GARCIA

BIDDER NAME	BASE BID	ALTERNATE NO. 1 PLUS BASE BID	ALTERNATE NO. 2 PLUS BASE BID	BASE BID / BASE BID PLUS ALTERNATE NO. 1 PROPOSED DURATION (DAYS)	BASE BID PLUS ALTERNATE NO. 2 PROPOSED DURATION (DAYS)
1) HURTADO CONSTRUCTION COMPANY	\$368,888.88	\$350,018.88	\$925,954.92	25 \ 25	45 \ 45
2) CE BARKER LTD.	\$645,660.00	\$552,930.00	\$1,244,659.00	45 \ 60	60 \ 75
3) HARRIS CONSTRUCTION COMPANY, LLC	\$889,342.37	\$850,890.77	\$1,630,181.46	100 \ 120	150 \ 180
SIATE OF TEXT	gin	68			

AUGUST 05, 2025

2085-6101D & 2085-6101C (9.2)



I, Julio Triana, PE, hereby certify these bid tabulations to be true and correct.

CONSTRUCTION OF THE WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE EVERGROVE PARKWAY PHASE 1 PROPOSED FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 219-A

FORT BEND COUNTY, TEXAS AUGUST 01, 2025 LIA ENGINEERING, INC.

M. GARCIA AUGUST 05, 2025

				1) HURTADO CONS	TRUCTION COMPANY	2) CE B/	ARKER LTD.	3) HARRIS CONSTRU	CTION COMPANY, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	ID CLEARING AND SITE PREPARATION ITEMS  1. HEAVY CLEARING AND GRUBBING OF STREET RIGHT-OF-WAY, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	1.5	\$5,000.00	\$7,500.00	\$6,000.00	\$9,000.00	\$42,190.75	\$63,286.13
2	2. LIGHT CLEARING AND GRUBBING OF STREET RIGHT-OF-WAY, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	1.2	\$2,000.00	\$2,400.00	\$4,000.00	\$4,800.00	\$23,675.65	\$28,410.78
ā	B. CHIPPING AND OFFSITE DISPOSAL OF CLEARED AND GRUBBED MATERIAL FOR STREET RIGHT-OF-WAY, COMPLETE IN PLACE	AC	2.7	\$5,000.00	\$13,500.00	\$5,500.00	\$14,850.00	\$53,254.50	\$143,787.15
2	I. 40 CY TRASH CONTAINER, CONTRACTOR TO REMOVE AND DISPOSE OF ALL EXISTING DEBRIS, INCLUDES TRASH AND MISCELLANEOUS DEBRIS FROM PROPERTY, LOADING, HAULING OFF, ENVIRONMENTAL COMPLIANCE AND DISPOSAL, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$1,400.00	\$1,400.00	\$3,625.00	\$3,625.00
5	5. REMOVE AND OFFSITE DISPOSAL OF EXISTING FENCE, COMPLETE IN PLACE	LF	1300	\$0.50	\$650.00	\$8.00	\$10,400.00	\$24.01	\$31,213.00
SUBTO	TAL BASE BID CLEARING AND SITE PREPARATION ITEMS			4	\$24,550.00		\$40,450.00	<del>-</del>	\$270,322.06
	ID RECLAIMED WATER ITEMS  1. 3" PVC WATER PIPE, SCHEDULE 80, ALL DEPTHS, COMPLETE IN PLACE	LF	172	\$20.00	\$3,440.00	\$50.00	\$8,600.00	\$21.61	\$3,716.92
2	2. 2" PVC WATER PIPE, SCHEDULE 80, ALL DEPTHS, COMPLETE IN PLACE	LF	760	\$20.00	\$15,200.00	\$45.00	\$34,200.00	\$19.21	\$14,599.60
3	3. PLUG & CLAMP, ALL SIZES, COMPLETE IN PLACE	EA	3	\$200.00	\$600.00	\$250.00	\$750.00	\$270.11	\$810.33
2	I. PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, ALL SIZES, COMPLETE IN PLACE	EA	3	\$1,718.00	\$5,154.00	\$2,000.00	\$6,000.00	\$2,881.15	\$8,643.45
5	5. 2" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$658.00	\$658.00	\$750.00	\$750.00	\$1,620.65	\$1,620.65
6	6. EA - 3" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$880.00	\$880.00	\$1,100.00	\$1,100.00	\$2,400.96	\$2,400.96
SUBTO	TAL BASE BID RECLAIMED WATER ITEMS				\$25,932.00	•	\$51,400.00	=	\$31,791.91
	ID DRAINAGE FACILITIES  1. EXCAVATION OF MATERIAL, INCLUDES STRIPPING, STOCKPILING AND RE- APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СУ	7300	\$3.35	\$24,455.00	\$7.00	\$51,100.00	\$4.85	\$35,405.00
2	2. EMBANKMENT, INCLUDES DEMUCKING, REMOVING AND DISPOSING OF EXISTING UNSUITABLE MATERIAL BEFORE PLACING FILL, HAULING, STRIPPING, STOCKPILING STRIPPINGS, PROOFROLLING, RE-APPLICATION OF STRIPPINGS TO FILL AREA, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL GRADING, COMPLETE IN PLACE	CY	7300	\$3.35	\$24,455.00	\$7.00	\$51,100.00	\$4.85	\$35,405.00
3	8. EXCAVATION AND GRADING OF DRAINAGE SWALE, SIDE SLOPE VARIES - 6' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	1150	\$5.00	\$5,750.00	\$10.00	\$11,500.00	\$14.65	\$16,847.50
2	<ol> <li>REMOVE 2' OF UNSATISFACTORY SOIL AND PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, OF 2' CLAY LINER FOR LAKE USING SUITABLE ONSITE MATERIAL, (AS DIRECTED BY ENGINEER, PER GEOTECHNICAL RECOMMENDATION), COMPLETE IN PLACE</li> </ol>	SY	6650	\$2.00	\$13,300.00	\$4.00	\$26,600.00	\$15.25	\$101,412.50

CONSTRUCTION OF THE WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE EVERGROVE PARKWAY PHASE 1 PROPOSED FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 219-A

FORT BEND COUNTY, TEXAS AUGUST 01, 2025

LJA ENGINEERING, INC. M. GARCIA AUGUST 05, 2025

				1) HURTADO CONS	TRUCTION COMPANY	2) CE BA	RKER LTD.	3) HARRIS CONSTRU	CTION COMPANY, LLC
NO.	5. 24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND	UNIT	QTY	\$98.00	**TOTAL \$129,948.00	\$150.00	\$198,900.00	\$120.85	\$160,247.10
	BACKFILL, ALL DEPTHS, COMPLETE IN PLACE				,	•	. ,		
	6. 30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	330	\$125.00	\$41,250.00	\$175.00	\$57,750.00	\$141.95	\$46,843.50
	7. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$4,000.00	\$28,000.00	\$5,000.00	\$35,000.00	\$3,845.00	\$26,915.00
	8. STAGE I - REINFORCED CONCRETE TYPE "C" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$1,078.00	\$6,468.00	\$2,000.00	\$12,000.00	\$1,685.00	\$10,110.00
	9. STAGE II - REINFORCED CONCRETE TYPE "C" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$1,518.00	\$9,108.00	\$2,000.00	\$12,000.00	\$2,175.00	\$13,050.00
1	0. 4" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	98	\$105.00	\$10,290.00	\$95.00	\$9,310.00	\$287.35	\$28,160.30
1	EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 6' BOTTOM, (0'-2' DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	550	\$5.00	\$2,750.00	\$5.00	\$2,750.00	\$7.75	\$4,262.50
1	2. WING WALLS FOR 30" RCP STORM SEWER PER TXDOT DETAILS, INCLUDES HEADWALL AND APRON, COMPLETE IN PLACE	EA	2	\$4,364.44	\$8,728.88	\$10,000.00	\$20,000.00	\$7,500.00	\$15,000.00
1	3. UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СУ	1700	\$1.80	\$3,060.00	\$1.00	\$1,700.00	\$4.95	\$8,415.00
1	<ol> <li>HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE</li> </ol>	AC	1	\$1,000.00	\$1,000.00	\$1,900.00	\$1,900.00	\$4,825.00	\$4,825.00
SUBTO	OTAL BASE BID DRAINAGE FACILITIES			-	\$308,562.88	<del>-</del>	\$491,610.00	_	\$506,898.40
	BID MISCELLANEOUS ITEMS  1. REMOVE AND OFFSITE DISPOSAL OF EXISTING TREE (ALL SIZES), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$2,000.00	\$2,000.00	\$10,250.00	\$10,250.00
	INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	3. INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$750.00	\$750.00	\$1,000.00	\$1,000.00
	4. INSTALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	3000	\$0.58	\$1,740.00	\$2.15	\$6,450.00	\$3.50	\$10,500.00
	5. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$800.00	\$800.00	\$1,500.00	\$1,500.00	\$2,200.00	\$2,200.00
	6. INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	6	\$88.00	\$528.00	\$100.00	\$600.00	\$75.00	\$450.00
	7. INLET PROTECTION BARRIER FOR STAGE II INLET, COMPLETE IN PLACE	EA	6	\$1.00	\$6.00	\$100.00	\$600.00	\$105.00	\$630.00

CONSTRUCTION OF THE WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE EVERGROVE PARKWAY PHASE 1 PROPOSED FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 219-A

FORT BEND COUNTY, TEXAS

AUGUST 01, 2025 LIA ENGINEERING, INC. M. GARCIA

AUGUST 05, 2025

				1) HURTADO CONS	TRUCTION COMPANY	2) CE BA	RKER LTD.	3) HARRIS CONSTRU	CTION COMPANY, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
90% HC	CAST SEEDING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE MOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), ETE IN PLACE	AC	2	\$8.00	\$16.00	\$650.00	\$1,300.00	\$1,425.00	\$2,850.00
	CE WATER CONTROL, INCLUDES PUMPING REQUIRED TO RUCT PROPOSED PROJECT, (AS DIRECTED BY ENGINEER), COMPLETE CE	LS	1	\$1.00	\$1.00	\$10,000.00	\$10,000.00	\$7,750.00	\$7,750.00
	ERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, PTHS, COMPLETE IN PLACE	LF	100	\$0.01	\$1.00	\$25.00	\$2,500.00	\$40.00	\$4,000.00
CHANN POINTS NECESS	ID WATER CONTROL TO COMPLETE THE CONSTRUCTION OF LAKE, EL, OR POND, INCLUDES CONVENTIONAL VACUUM TYPE WELL , INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING AS IARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, (AS ED BY ENGINEER), COMPLETE IN PLACE	AC	1	\$1.00	\$1.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
DEPAR' ADMIN MINIM CONTR PROVIE	ID PLUG THE EXISTING WELL IN ACCORDANCE WITH THE TEXAS IMENT OF LICENSING AND REGULATION (TDLR) AND TEXAS ISTRATIVE CODE (TAC) CHAPTER 76.104. WELL TO BE CAPPED A UM OF 15-FEET BELOW THE SURFACE. UPON COMPLETION THE ACTOR SHALL COMPLETE A STATE OF TEXAS PLUGGING REPORT AND BE THE REPORT TO THE OWNER AND ALL APPLICABLE REGULATORY LES, (WITH WRITTEN APPROVAL FROM THE ENGINEER), COMPLETE	EA	1	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$12,725.00	\$12,725.00
	CEMENT STABILIZED SAND BACKFILL, (2 SACKS PER CY), (AS ED BY ENGINEER), COMPLETE IN PLACE	CY	50	\$1.00	\$50.00	\$50.00	\$2,500.00	\$60.00	\$3,000.00
	'AL AND DISPOSAL OF TREE DEBRIS, INCLUDES LOGS, BRANCHES, ETC., COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	\$1,500.00	\$1,500.00	\$12,475.00	\$12,475.00
SUBTOTAL BASE	BID MISCELLANEOUS ITEMS			=	\$9,844.00	_	\$62,200.00	_	\$80,330.00
1. 24" PO SHALL I INCLUE	1 DRAINAGE FACILITIES ITEMS LYPROPYLENE STORM SEWER, ASTM F-2881, WATERTHIGHT JOINTS BE BELL-AND-SPIGOT, ASTMD3212M, GASKETS, ASTMF477, BES BEDDING AND BACKFILL, ALL DEPTHS, INCLUDES MANDRELL D BE USED IN LIEU OF DRAINAGE FACILITIES ITEM NO. 5, COMPLETE EE	LF	1326	\$88.00	\$116,688.00	\$95.00	\$125,970.00	\$86.75	\$115,030.50
SHALL I	LYPROPYLENE STORM SEWER, ASTM F-2881, WATERTIGHT JOINTS BE BELL-AND-SPIGOT, ASTMD3212M, GASKETS, ASTMF477, IES BEDDING AND BACKFILL, ALL DEPTHS, INCLUDES MANDRELL O BE USED IN LIEU OF DRAINAGE FACILITIES ITEM NO. 6, COMPLETE IE	LF	330	\$108.00	\$35,640.00	\$115.00	\$37,950.00	\$162.45	\$53,608.50
SUBTOTAL ALTE	RNATE NO. 1 DRAINAGE FACILITIES ITEMS			-	\$152,328.00	<del>-</del>	\$163,920.00	_	\$168,639.00
1. ROADV STOCKI	2 PAVEMENT ITEMS  /AY AND RESERVE EXCAVATION, INCLUDES STRIPPINGS,  PILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS,  ETE IN PLACE	CY	936	\$4.18	\$3,912.48	\$9.00	\$8,424.00	\$14.35	\$13,431.60
REQUIF	OR 8" STABILIZED SUBGRADE PREPARATION 8% BY DRY WEIGHT, AS RED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL RER, COMPLETE IN PLACE	TON	148	\$338.00	\$50,024.00	\$395.00	\$58,460.00	\$450.00	\$66,600.00

CONSTRUCTION OF THE WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE EVERGROVE PARKWAY PHASE 1 PROPOSED FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 219-A

FORT BEND COUNTY, TEXAS AUGUST 01, 2025

LJA ENGINEERING, INC. M. GARCIA

AUGUST 05, 2025

				1) HURTADO CONSTRUCTION COMPANY		2) CE BARKER LTD.		3) HARRIS CONSTRUCTION COMPANY, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	CEMENT FOR 8" STABILIZED SUBGRADE PREPARATION, 8% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE		148	\$370.00		\$345.00	\$51,060.00	\$545.00	\$80,660.00
4	. 8" STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	5116	\$3.88	\$19,850.08	\$8.00	\$40,928.00	\$5.85	\$29,928.60
5	. 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	4449	\$65.00	\$289,185.00	\$59.00	\$262,491.00	\$72.25	\$321,440.25
6	. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3006	\$4.08	\$12,264.48	\$5.00	\$15,030.00	\$4.25	\$12,775.50
7	. CONNECT PROPOSED 7" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	28	\$58.00	\$1,624.00	\$44.00	\$1,232.00	\$40.65	\$1,138.20
8	. TEMPORARY (DEMOUNTABLE) TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$8.00	\$16.00	\$3,000.00	\$6,000.00	\$3,245.00	\$6,490.00
9	. REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	67	\$28.00	\$1,876.00	\$125.00	\$8,375.00	\$17.75	\$1,189.25
10	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$11,800.00	\$11,800.00	\$13,000.00	\$13,000.00	\$22,325.00	\$22,325.00
11	. TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$800.00	\$800.00	\$7,500.00	\$7,500.00	\$10,152.00	\$10,152.00
12	. CONNECT PROPOSED 7" REINFORCED CONCRETE PAVEMENT TO PROPOSED ASPHALT CONNECTION, COMPLETE IN PLACE	LF	54	\$20.00	\$1,080.00	\$46.00	\$2,484.00	\$47.95	\$2,589.30
13	. 6" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	184	\$32.00	\$5,888.00	\$10.00	\$1,840.00	\$45.00	\$8,280.00
14	FORT BEND COUNTY PERFORMANCE BOND, PAYMENT BOND, AND MAINTENANCE BOND (TOTAL BOND AMOUNT \$87,062.50), COMPLETE IN PLACE	LS	1	\$2,180.00	\$2,180.00	\$10,000.00	\$10,000.00	\$12,325.00	\$12,325.00
SUBTO	TAL ALTERNATE NO. 2 PAVEMENT ITEMS				\$455,260.04	-	\$486,824.00	=	\$589,324.70
	ATE NO. 2 TX DOT ROW ITEMS  8" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	360	\$5.00	\$1,800.00	\$10.00	\$3,600.00	\$31.95	\$11,502.00
2	. 2" TYPE "D" HMAC PAVING WITH 8" FLEXIBLE BASE AND PRIME COAT, COMPLETE IN PLACE	SY	360	\$188.00	\$67,680.00	\$195.00	\$70,200.00	\$227.95	\$82,062.00
3	. SAWCUT, FULL DEPTH OF EXISTING PAVEMENT, COMPLETE IN PLACE	LF	130	\$12.00	\$1,560.00	\$25.00	\$3,250.00	\$12.45	\$1,618.50
4	REGRADE EXISTING DRAINAGE SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	520	\$5.00	\$2,600.00	\$10.00	\$5,200.00	\$17.95	\$9,334.00
5	BROADCAST SEEDING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	0.4	\$100.00	\$40.00	\$1,000.00	\$400.00	\$4,065.85	\$1,626.34
6	. 24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	111	\$138.00	\$15,318.00	\$125.00	\$13,875.00	\$181.95	\$20,196.45

## BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE EVERGROVE PARKWAY PHASE 1 PROPOSED FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 219-A

FORT BEND COUNTY, TEXAS AUGUST 01, 2025

AUGUST 01, 2025 LJA ENGINEERING, INC. M. GARCIA

AUGUST 05, 2025

				1) HURTADO CON	STRUCTION COMPANY	2) CE BA	RKER LTD.	3) HARRIS CONSTRUC	CTION COMPANY, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
7. 6	5:1 SAFETY END TREATMENT FOR 24" STORM SEWER, INCLUDES SLOPE PAVING, COMPLETE IN PLACE	EA	2			\$2,000.00	\$4,000.00	\$3,045.00	\$6,090.00
SUBTOTAL	L ALTERNATE NO. 2 TX DOT ROW ITEMS				\$98,998.00	<del>-</del>	\$100,525.00	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	\$132,429.29
1. I	TE NO. 2 PAVING MISCELLANEOUS ITEMS NSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$3,500.00	\$3,500.00	\$3,200.00	\$3,200.00
	NSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$750.00	\$750.00	\$1,500.00	\$1,500.00
(	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$800.00	\$800.00	\$1,500.00	\$1,500.00	\$2,125.00	\$2,125.00
A	HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	1	\$100.00	\$100.00	\$1,900.00	\$1,900.00	\$5,414.75	\$5,414.75
5. [	OUST CONTROL, INCLUDES PROCUREMENT OF WATER, COMPLETE IN PLACE	LS	1	\$8.00	\$8.00	\$3,500.00	\$3,500.00	\$6,245.35	\$6,245.35
	EXTRA CEMENT STABILIZED SAND BACKFILL, (2.5 SACKS PER CY), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	СУ	10	\$30.00	\$300.00	\$50.00	\$500.00	\$60.00	\$600.00
SUBTOTA	L ALTERNATE NO. 2 PAVING MISCELLANEOUS ITEMS				\$2,808.00	_	\$11,650.00	_	\$19,085.10
BID SUMN	MARY								
BASE BID	CLEARING AND SITE PREPARATION ITEMS				\$24,550.00		\$40,450.00		\$270,322.06
BASE BID I	RECLAIMED WATER ITEMS				\$25,932.00		\$51,400.00		\$31,791.91
BASE BID I	DRAINAGE FACILITIES				\$308,562.88		\$491,610.00		\$506,898.40
BASE BID I	MISCELLANEOUS ITEMS				\$9,844.00		\$62,200.00		\$80,330.00
TOTAL AN	MOUNT BASE BID				\$368,888.88		\$645,660.00		\$889,342.37
ALTERNAT	TE NO. 1								
TOTAL AN	TOUNT BASE BID				\$368,888.88		\$645,660.00		\$889,342.37
DEDUCT D	PRAINAGE FACILITIES ITEM NO. 5				-\$129,948.00		-\$198,900.00		-\$160,247.10
DEDUCT D	PRAINAGE FACILITIES ITEM NO. 6				-\$41,250.00		-\$57,750.00		-\$46,843.50
DRAINAGE	E FACILITIES ITEMS				\$152,328.00		\$163,920.00		\$168,639.00
TOTAL AL	TERNATE NO. 1 PLUS BASE BID				\$350,018.88		\$552,930.00		\$850,890.77

BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE EVERGROVE PARKWAY PHASE 1 PROPOSED FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 219-A

FORT BEND COUNTY, TEXAS

AUGUST 01, 2025 LIA ENGINEERING, INC. M. GARCIA

AUGUST 05. 2025

			1) HURTADO CON	1) HURTADO CONSTRUCTION COMPANY 2) CE BARKER LTD.		3) HARRIS CONSTRUCTION COMPANY, LLC		
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
ALTERNATE NO. 2								
TOTAL AMOUNT BASE BID				\$368,888.88		\$645,660.00		\$889,342.37
PAVEMENT ITEMS				\$455,260.04		\$486,824.00		\$589,324.70
TX DOT ROW ITEMS				\$98,998.00		\$100,525.00		\$132,429.29
PAVING MISCELLANEOUS ITEMS				\$2,808.00		\$11,650.00		\$19,085.10
TOTAL ALTERNATE NO. 2 PLUS BASE BID				\$925,954.92	4	\$1,244,659.00		\$1,630,181.46
				e				